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Instructions :

L. All questions are compulsory. . o
2.ww%ﬁaﬁﬁvﬁw%mﬁﬁe®ﬁmaﬁaﬁf
WWW@%W@W%W@@“ﬁIIHhem is any

error/difference/contradiction in Hindi & English versin of question
paper. The question of Hindi Varsion should be treated valid.

1. 0.331°fpfqa?mﬁaaﬁaﬁﬁq,ﬁﬁpﬁiﬂqm%ﬁmq#U%l‘]
E)::press the 0.3 form of p/q, where p and q are the

integers and g0,

2.0 FEE 1243x+5x H x2 T e 1
. Expression 12+3x+5x2 write the cofficient of X2,

3. I el % a7 fafan SR

Write the formula of length of diagonal of cubid.

S _ T
4. i e =i fet o wiafia I | Change  fadian into degree. 1
5. mﬁaﬁmw%ﬁawﬁwéwﬁ%w%ﬁw

& foe s of vt ot 87 1
Drive a car not wearing seat belt how many money charged by
Law? . .

878 ! foigem Tem ¥ a-fau) 2

Change into Vinaculum Numbers 878.

o1 9 POQ W@ Y@ %1 x %1 7R 7 Fifw

| B2
A
Find the value of x from
diagram if POQ straight line.
- i) 0 | |Q >
8.  UH HHRR T4 & %A JG HI0 FTGH 98 15 Heg qon
 3MYR 10 " B | ' | 2

Find the area of parallelogram whose height is 15m and base is 10m. *

9. uﬁ:sinA:%E‘[,H‘icosAeﬂTtanAﬁ?ﬂH‘m?ﬁﬁml PT.O.2
: .
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1.

13.

14.

3.

16.

18.

19.
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(2] s

) .3
sinA = 3 It then find the value of cos A and tan A.

weifies sitwgl =t witfia sifag | o 2
What if the definition of Primary Data.

i wUs-d

b 1 . S

fW7+3J—2- ¥ X 1 9 St | 3

| :
Rationalise the denominator of -
- | 74342
K 1 A 1 FRe af gl e & ¢ g Tl o 3
If the following system of equations has no solution, find the value
of k. 2xtky=1, 3x-5y=17 ' |

| T TR 1T ST 165° € 3R TE I F AT x°F,

3 I YA FI07 1 7Y T3 | 3

" One interior angle of a hexagon is 165° and remaining angles are

of x° each find the value of x. , .
& e ABC #t T F @ b = 7 9. LZA=90° T Fyy
£C=60°%11 | ' 3
Construct a triangle ABC in whichb=7 cm, ZA=90° and ZC=60°,
fryemaR e format e 8 A, 15 Fd G 17 A ) SwAw
&A% Jd S | 3

A triangular field having sides 8 cm, 15 cm and 17 cmrespectively
-find its area. ' '

oo g @ M AT - S
Divide by Dhvajank method : 1234 +42
4 T 3R 3 Al 1 7T 2100 7. ¥ 71 5 HIAA 3 2 7 H A

1750 %. ¥ 1 T HHI qY1 Teh Al I oI T Ao | 4
The cost of 4 chairs and 3 tables is Rs. 2100 and the cost of 5

chairs and 2 tables is Rs. 1750. Find the cost of one chair and one

table separately. - A
fa3 § AB=AC @ /B=58°@I

LH LAF AR IS In Fig. AB=AC 4

and ZB=58°, then find the value of ZA. ] .
T =g ABCD F 71 Fifoe o AB=5.5 ¥, BC=3.3 ¥,
AD = 4.6 ¥t 7en faaol AC = 5.7 At @ik faahof BC=6 &t #1114

Constructa qual‘mjﬂ]ﬁ;?f@ ABCD inwhich AB=3.5 cm, BC=3.3cm,
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20.

21

®

23.

24,

25.

_Rectangle size board is 20cm x 15cm if rate | Bus Stop
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AD =4.6 cm and digonals AC = 5.7 cm and BD = 6 cm.
U el 9 a1 A A et @ o g & see el
T, S J I s 75 A, 60 A T 40 A & A 9 A
TN TH B NG I o 4

A woddenbox is made up by 1 cm thickness if its outer dimensions

. are75cm length, 60 cm breadth and 40 cm hei ght find the volume

of wood consume to make it:

U STAAIHR YA 1 o 12 Wi e, 6 wirex e en 2 ex e

ARELE TR S BN GRIETICRRAE Sy N vie
F R Y I Hifg) . | 4

A rectagular tank of water is 12m long; 6m wide and 2 m deep.

Find the cost of repairing its four walls and floor at the rate of Rs.
15_ Per square meter. - http://www.rbseonline.com '

. 4 4tan®—5cosh . -
g sinf=—= A @ F1 A T FifT
-5 8 . secO+4cotb o I _ 4

. 4 ‘ . 4tanB —
If sinB = — then find the value of - 1 50058.
5 secO +4cotb

forelt By % 101 2:3:4 ¥ (e A €, 91 1o =) e § 7
i gl . 4

.The angle of triangle are in ratio 2:3:4 find the three angles in
radian. )

fe-

- 4
41, 39, 48, 52, 46, 62, 54, 40, 96, 52, 98, 40, 42, 52, 60 -

T SHS| & WA, AeAF T 9gaT 714 S|

Govt. G.S.S. Dhanla in mathematics test given to 15 students, the
following marks are recorded :

41,39, 48, 52, 46, 62, 54, 40,96, 52, 98,40, 42, 52,60

Find the mean, median and mode above data.

4

Ahead

School |

of per square cm is 10 rupees then find the Ahead
value of two rectangular boards. '

http:waw.rbseo.nline.com' .

[3] _E3].

A, S 3 R e § 15 Sl § Fretfefad siw A

School TF AIAHR A€ 20cmx15cm & W TR wfa & .

-|Bus Stop mﬂﬁﬁmﬁlﬁmﬂﬁm |
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[4] | E-3
ﬁﬂmdaﬁ;mmﬂg'ﬁ?ﬂﬁﬁmmﬁam
FUFU- 6

=77 (271 #)]0-10] 10-20]20-30]30-40]40-5050-60|60-70

IOl 8 18 23 37 47 26 16

Draw a frequency polygon with the help of histogram for the
following distribution. ‘

Production (in tonnes)|0-10 | 10-20 20-30 |30-40 [40-50 |50-60[ 60-70

Frequency 8 18 | 23 37 | 47 | 26 16
7. Tag Fifee- Prove that - 6
(i) tan?0 - cot’0 = sec?0 — cosec?d (ii) cos'® - sin'® =d - 2sin’0
' ' OR
tan A +secA — |

(D
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30.

29.

faz FifsA- Prove that : . =tan A +secA
e Pr tanA —secA +1 )

T STGAHR HEH 40 Tty T 3iY 30 Wizt g ® 1 3EE sl

3 wfiex <ire Tl g S <o ¥ Tvg 991 g3 & 1 TR /el W 200

ﬁﬁwﬁaﬁﬁaﬁaﬂfwﬂzﬁmﬁwmﬂmmﬁr 6

A rectagular ground is 40m long and 30m wide. A 3m wide path.

* Parallel to its length and width, is made in the middle of the ground.

Find the expenditure of paving the concrete on this path at the rate
of Rs. 200 per square meter.

Tag Tt fr frdt fye § H9 W o ol 37 g el |
it & AN F SR B € | 6

To prove that right angle triangle square made on hypotenuse, is
equal to the sum of the square made on after two sides.

: " OR '
fag FifT 5 T 9 F 5101 3R T o g e & 1 9
Il 3R Fd el & SeR B At Frye wafmes € € 1

" To prove that if two angles and one side of ong triangle are equal
to the corresponding two angles and one side of the others triangle
then the two triangle are congruent.

Iy GRS WA S S F- 15x4=6
Using the suitable identities, factorise the following: .
(i) .64a’+27b° (i) x? + 6xy + 9y’
(iii) w+ 162° - 12xy — 16yz + 24xy

e e

iv) x'+y*
' o:o 0:0 0:0
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